
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

8428 × 0.001 = ________ 5091, 5 × 0.0001 = ________

7230, 6 × 0.1 = ________ 2796, 4 × 0.001 = ________

8124, 9 × 0.01 = ________ 1540 × 0.0001 = ________

4222, 3 × 0.01 = ________ 7780, 2 × 0.001 = ________

7249, 3 × 0.1 = ________ 1323, 2 × 0.01 = ________

9390 × 0.0001 = ________ 9110, 7 × 0.01 = ________

9473, 8 × 0.01 = ________ 1555, 2 × 0.01 = ________

8185 × 0.1 = ________ 3552 × 0.1 = ________

5431, 7 × 0.001 = ________ 6886, 2 × 0.001 = ________

2740, 6 × 0.0001 = ________ 1723, 5 × 0.01 = ________
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